10 T} 3 Ato]of

9ol 4] -

® A4t 6 A7t ek,

@ A= 3 717F A



2.

V72 =av2, V300 =bV3 & W, a-b 2] F2?

D -2 Q -4 B 4 @ 6



® 2x24+7x+6

@ x2+3x+2

@ 3x24+T7x+2

® 2x2+3x-2

@ x2-5x+6



fiah?

Bl

4.  12ax?® - 12axy + 3ay® & A

@® 12(ax - ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ® 3a(2x-y)?



Va2 + da + 4 - Va2 -

da+4 5 5] 5
7289

ol a o] W= 7Aoot A2

@ a<-2

@ —2<a<0

@ a>2

B -2<a<?2

@ 0<a<?2



S % 2Tax? — 12ay* & HFEA| AR o 229

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(3%ax — 4ay)? @ 3a(3x+ 2y)(3x - 2y)

® 3(9ax? - 4ay?)



7. x—dx-A=(x+5)(x-B) & I Hrth A-B o] g FoHH?

D =36 ® —54 B 36 @ 54 B 64



8.

O<a<19®, /1-a?2-/(a-1)

@o

@ 2q + 2




2 50 AR G o, A WA 0 S

T

2 2 V2 V2
5 O @4 O



@ % B2 D Afol9] A4

G 245 +2- A Doj &

o
e B
w



11. E]'E‘é‘es ]%’8‘7}1%?

@ V3 VIO Afo]e] A4t B3] B
@ V3T VIO Aol 9] B4t 27Relet

® V33 VIO Atolo] frelds aholey.
@ \w v—x}o o] R4 x i 245 He




Vi- V2 A, (x+y)(x—y) 2 FH?

® 6 @ 243 3 36



13. 4x®+ax+16= (bx+c)* oM a+b+c 9 322 (T, b>0, ¢ <0)

@ -7 ® =10 3) =12 @ =15 B —-18



14, x o] B I (x-a+2)(x+5 - 20) 7H LAAFA ] 57 A%
a o) & T

@D -3 @2 -1 3 1 @ 2 3B 3



15. o]k 9x2 —12x +a & FHAFA S Z TA|H (3x—b)? o|tt. o],
a—2b 9 F= FopA?

@D -4 @2 -2 3 0 @ 2 B 4



